Admission Tech

80. T cs87 A =3i—5j+/2k = o= x

YT TF FISSF (FNIF) SfS 2 FT: 034-2034
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10.
11.

12.

T G2 (S2ATT TGS (T T2

A. 60° B. 30° C. 90’ D. 0"
Answer Keys: 1.C 2.C 3B 4.A 5.C6.C7.D 8.A
9A 10.B 11.A 12.C 13.B 14.D 15B 16.B 17.C
18.A 19.C 20.A 21.D 22.A 23.B 24.C 25.B 26.C
27.B 28.C 29.C 30.B 31.C 32.A 33.C 34B 35.B
36.C 37.B 38.B 39.B 40.C 41.C 42.B 43.D 44.C
45.B 46.A 47.D 48.C 49.C 50.D 51.B 52.C 53.B
54 B 55.A 56.A 57.C 58.B 59.D 60.C 61.C 62.D
63.B 64.C 65.A 66.A 67.A 68.B 69.C 70.D 71.B
72.D73.B74.B75.D76.B 77.C 78.A 79.C 80.A
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TSN WEw wJEm

“oF WA’ G Ity 2

A. cTiasfaa B. sTeefas Qg

C. o¥s &= D.ZY &=

A0 IR FIFRR I5A1 77?2

A. =ifzfosl B, 912 3517 C. (MR ot D. @FsA

“@ R T R - @RI FAG?

A.@=fs B.8Ifda C.wme  D. Sfew

G0 4P 2 8 o M} S e | TR F=oNF wATS

IR N T @, ? o G (2R FF | g 92 I9fS =
8 5t G2 forst 3| ey | S, 2 o @ T w?

A ¥, ag oA B. %, % @q ¥m
C.q,va3s D. &|b3 7

Choose the correct spelling:

A. Trouser B. Trousers |
C. Trouzer D. Trouzers |
He is opponent; you must respect

and fear him at all times. '

A. a redoubtable B. an insignificant

C. a craven D. a pugnacious
He attributed the loss me.

A. from B. by C.to D. of
Find the correct antonym: DESICCATE
A. Lengthen B. Hallow

C. Exonerate D. Saturate

3¢ CFIF AR W %?

A. ©d.2¢ B. 93 C.ou.¢ D. ¢oo
30, 3], D, Y, Yo YIAF 2ATS! F16 +T© Z2?
A. 9 B. 9¢ C. 8o D. 8¢
“Iq" AHHR AN =% FHG?

A. 9] B.¥dt  C. S5 D. a5 =1fs
A STy f?

A. S B. 5ol C.v&are D, fafaffs
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27.

ICBN (International Code of Botanical
Nomenclature) W@ cfifdmer  «feH

9T & ITA?

A. Genus B. Taxon C. Species D.Kingdom
=6 359 (ISR FT?

A. AGA B. UAG C. UAA D. UGA
DNA 23t mRNA ™ I¥ I e
afeaes & 3=?

A. Replication B. Transcription

C. Translation D. Mutation

DN A @3 w+f3gi€ Carbohydrate ==5?

A. Glucose B. Ribose

C. Deoxy-ribose D. Fructose

= RE S AR SIRIAGTE AL FACS
bk T

A. Dimitri Iwanowsky B. Pirie

C. Stanley D. Shafferman
72 fAe=et MR way vt o122 @152

A T B. T, C. HIV D. PRSV-P
Tromd 3 2@ TR Bfer w3 Afveraed 7
*ZTEs 77

A TTE B.3tm C.g9R A2 D. (@02 77
=g Efewre (=R Tt C; TBfewm 3o =172

A. Cyclic phosphorylation

B. Hatch-Slack cycle

C. Calvin cycle

D. Pentose phosphate cycle

e @IE @N WAy [RATm?

A. Golgi apparatus B. Mitochondria

C. Ribosome D. Lysosome

TSR 43T (I AZCACHT TFAFS?

A. Liver cell B. Red blood cell
C. Neuron cell D. Kidney cell

=16 Av-RfEeHe Jima?

A. Fructose B. Sucrose

C. Dextrose D. Cellubiose

1o g a3 c=te dratey 77

A. Fefas afsefRam B. S@wd ®We! g

O CIEACIET I D. F#fG St Sge
. 5 i Tefore gt T 3=t =372

A. TfEH B. A6 SRt

C. B9 Q@AW D. (=1

Reverse transcription gf&ag & tsdt =72

A. DNA ™= DNA B. DNA =3 RNA
C. RNA T DNA D. DNA ™ Protein
TFRD TW-AIS I FFJ N I@ W?

A. Phycocyanin B. Xanthophyll

C. Chlorophyll D. Erythrocyanin
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31.
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38.

39.

40.

41.

42.

43.

44.

=S @ERE AT SAmEm T1?

A. Protein B. Lipid

C. Polysaccharide D. Copper

STYTIZ TTIT TR LS & T 2772

A. Benthic B. Epiphytic

C. Lithophytic D Endophytic
TR @M RS dfewr w Hfe a3

HNT 5T TT?
A, " F3zm B. gt7aw
C. @18 fAstEm D. (@63 7

AAMIRYA (SSRI 1o 8 (et fafie gaes
T T

A.Intine B. Exine C. Cuticle D. Folicle

A. Agaricus campestris B. Agaricus bisporus
C. Pleurotus ostreatus D. J9C=T1

&F 9o TRTAR ABIGIo o coiyit Sfew
TOIRF A FLACR?

A. =1 8 Tfq5 B. W15 @ &1

C. =19 '8 STALH! D. T @ BTI51

&= A et TeAmaIA?

A. Vaucheria sp. B. Chlamydomonas sp.
C. Botrydium sp. D. Ulotrix sp.
SN W THE (N frm 2z afHes?

A. Actinopterygii B. Aves

C. Sarcoptery/gu D. Chondrichthyes
G- X ATST 71 A1 367

A. SIICHIfAD
C. Fraifsfea

B. Bitstone

A. -d0 B.¢->0 C.@e->¢ D. do-3
3 it fon Afds xeum 3© 51 7 Arsir qiew
CHIIBITIR T T2

A.0Y B. 3 C. 38 D. 8v
TS 3 fGBRT @R IS FHH?

A. oTiftfeam sitat g3t B. ke tsfd

C. SteT 2z 33! D. 32 offefam wfere (@9
¥ TR (FIF YT THA WNSGT (ATF N wara
HITH FIA?

A.FRFfea= B. @& C. 3w D. «nadseE
TFATALRR AP deE Meye gvaRa 1RB?
A.TH® B .jeem C.T=0s D, @2
TACER FHRFERC® FfrerE NS I IR
TAWMADG (ofd A2

A. Tt «ufse B. wiftt afse

C. *iaicafsa D. J3Is

7S TR R3w o 3R T 7 . ol g

A. IR A=A B. ¢*itw1a

C. afEeafss D. sto= T A&ife
TARTISI (IIRD?

A. AVN B.ICZN C. NAS D. SAN
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S1.
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S3.

54.

3S.

56.

57.

58.

59.

TR ey ofe wx fafafor ate canfivsmﬁasra
FHRT I

A. 80-8¢ T B. ¢o-Yo %

C. qo0-bo =% D. bo-bdo TF
NAIWMRA LT oI ~v=as ¥ I3t=?
A. rcaifeaa B. snifewfaa

C. SRt D. ICOIFHION

IS CO, G TG 0.2¢ % AT PR IX TS 7
A.fored B.oRed  C.fagd D. Stds
TR TP R O, 3Ite +fFRifee = &=
sffeara?

A. SfSzaq B. 19w

C. ST &R D. &=fo2 77

TR S Tt wwafy g fAffs?
A.b->0 B.Y-3 C.3-38 D. -0
FAIH TR T fifors 3w ¥ 1o T2

A. F9 I &R B. 13 1 @afef

C. forafars D. cofafoegrem snfeenfa
AR 936 e Iz o7 39?

A.do0-53 ¢C. T B.¢-a¢C.fx

C. o> ¢C.fa D. e¢-v C. fx

et (1ER 1w 7

A. af6afe wad B. A3

C. IFIF FAY /ST D. VFTSRSE A I
X-TERITAITERI AerE ez F1w 1367

A. SITERTRfE B. aites B3 ey

C. SraaR =g D. 3111 Bitee g
IgM =T omsAt T|?

A. O 8 AEIFE B. fe=i

C. TTA2 A D. 3% @ 53w
FITAF oM oveq (AT Ad=F?

A. (A9 d¢-00 m

B. 35RRFIEGS oz A 71

C. FefgFamf @itma 3@ U

D. ¢t Fidifaet e T FSq

=o1fii| YIFERAAAF T Seoy T2

A. SR B.ams  C.ffm" D, fRfg
NWMWWWWW—
A.2n°  B.(2i1) C.2(+1)  D.2(2H1)
CH;OH w9 IR W @R mi@sm
Rwyse?

A. sp B.sp° C.sp’d’ D.sp’

IR A AFR ww SR pH A & A
Qe HAFRA?

A. 3-93 T3 &g 10-93 fate

B. 3-93 3 fg 11-93 fats

C. 4-a3 43 frg 7-93 <o

D. 4-93 ¥ fg 8-9a fAte
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60.

61.

62.

63.

64.

6S.

67.

68.

69.

70.

71.

72.

73.

@R TREGR Rare 7 (e IR W T?

A. fFouge B. FI3F TG
C. @3 3% D. sfEtew s Hfeasra
132 (FHRMB WiaEs @ o?

A. 2-frEs-2 Qo B. 2-fiwnzs-1 Aesm=

C. faEoa-2 D. 3-fa3s fKowa-1
CH;CHO < CH;COCH;-93 0§ s
* 3z 5 IS

A K2Cr207/IT B. 2,4—DNP
C. [Ag(NH3)2]+ D. PC13
wfefde 4w It et Ffess ot @1Rf5?
A. =R B. Fgw
C. AT D. S

T AT TSR AR BT N2

A M@ B.¢ftd C.sags D, 3=

N; (g) + 0; (g) & 2 NO (g) Rfernfo & warz?
A. St B. SRR

C. ToTR SR D. B3 77

wiafAE AT @ S15R E ¥ GreR IS Rfo o
A. Y@ *fe B. =i =&

C. 3R ¢ TS #fF yHID. =D 7

IR AIRAR BrEre owred?

A. N32C204.2H20 B. N828203.5H20
C. NaOH D. KMnO,
wf¥wRe R 7

A. 95.6% R4 + 4.4% *tfg T30 e

B. 80.5% N4 + 5.4% *Nfiq o= faas

C. 95.6% a1 + 4.4% =Hiffa FFo= faarr

D. 80.5% == + 5.4% =faa Fugo= fa

AW WA ALTS 367

A. Al,O;.2H,O B. Ca0.Si10,

C. CaS0;.2H,0 D. CaSO;

100 mL #3™t 26.5¢ Na,CO; 5lws ¢ @
RIATIA Tt IS TLI?

A.IM B.0.5SM C.0.25M D. ===

N (ATt (H1R) I7 AR?

A.CiH¢ B.CH, C.C;Hg D. C,Hg
= NS wwER IS 3d ARGt Wiet 4s -«
T FR? .

A. A «ifs B. wreE3re

C. ASfaa 39w D. W3tEs s
R st Reza 7 ax?
A.C>0O>N>F B.O>C>N>F
C.F>N>0>C D.F>O0>N>C

74.

75S.

76.

77.

78.

A Rfsar Srurzn Seim ¢ [Rfsaer am
T AV AIJICA ATNLPHICIA WF (I ?

A K<l B.K.=1 C.K.=0 D.K~>1

=G ATt Fo fEemarste?

A. feoifm-A B. J3tab

C. ARSI D. @¥tsIta’

T g AlClL-@ Boaffere @t e wirere3s

e Rfears F 3?

A. 9918 faepte=s B. ~efesfEfes afSgtem

C. Froa-mies Rft D, e

AR tafFemmm eRert Gesifa Birere

ARITER OB AT TI?
. o= s=egw oneat I

1. MY A TEE AT O FFS 27 AL

111, TS AT HIMF TFA FIE JACX 91l

HANCFA AN A AfRFAESS 3@ I |
A.1811 B.iisini C.18m1  D.ii1nei11
H3 H3
A. B.
' 2H6

H;
D.
H;

79. SRR IS T RETe SRF-w o TR ASE ww?

A. 8w  B.®w& C.fers D, @R
80. wiw KMnO .’ ®iats Mn-97 2nfiz ¢ +Raf¥s

T A2AJT YRUFCA-

A.+7,+4 , B.+2,+7

C.+2,+4 D.+7,+2

Answer Keys: 1.B 2B 3.A 4B 5.A 6.D 7.C 8.
9.D 10.C 11.C 12.B 13.B 14.A 15B 16.C 17.C
18.D 19.B 20.C 21.C 22.B 23.B 24.A 25.B 26.C
27.B 28.D 29.C 30.B 31.A 32.B 33.C 34.D 35.D
36.A37.C38.B39.A40.C 41.A42.A43.A4D
45.D 46.B 47.C 48.B 49.D 50.B 51.D 52.A 53.C
54.D 55.C 56.C 57.D 58.D 59.A 60.A 61.C 62.C
63.C 64.A 65.A 66.B 67.A 68.A 69.A 70.D 71.C
72.C73.C74B 75.C76.C 77.C 78.D 79.C 80.D
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